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Topic 1, Volume A

QUESTION NO: 1

Which of the following steps, required for iISCSI software multipathing, must be performed using
the esxcli interface?

A. Binding the VMkernel ports to the selected uplinks

B. Configuring Dynamic Discovery for the iSCSI software initiator
C. Connecting the iISCSI software initiator to the VMkernel ports
D. Connecting the VMkernel ports to the virtual switch

Answer: C
Explanation:

Topic 2, Volume C

QUESTION NO: 2

What is a function of the vmmemctl driver?

A. reclaims unused memory from the guest OS

B. allows the operation of unsupported guest OS types
C. enables transparent page sharing

D. enables swapping of the virtual machines

Answer: A

Topic 1, Volume A

QUESTION NO: 3

Which is an important benefit provided by VLANs?

A. improved fault isolation

B. reduced broadcast traffic

C. higher tolerance to broken physical hardware
D. higher network availability

Answer: B
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Explanation:

Topic 3, Volume B

QUESTION NO: 4

VMware vCenter Converter allows which of the following types of conversions (Choose Three)?

A. Physical to Virtual

B. Disk Image to Virtual
C. Physical to Disk Image
D. Virtual to Physical

E. Virtual to Virtual

Answer: A,B,E
Explanation:

Topic 2, Volume C

QUESTION NO: 5

An administrator is installing vCenter Server in a virtual machine. The selected database is
Microsoft SQL Server 2005. Which of the following actions must be taken before vCenter is
installed (Choose Two)?

A. Create a SQL Server ODBC connection using the master database
B. Create a database user with database operator (DBO) rights

C. Create a 64-bit DSN

D. Create a 32-bit DSN

Answer: B,C
Explanation:

QUESTION NO: 6

The maximum number of failover hosts in a VMware HA cluster is:
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Answer: D
Explanation:

QUESTION NO: 7

To list the current firewall settings which command would you use?
A. esxcfg-firewall -q

B. esxcfg-firewall -d

C. esxcfg-firewall -|
D. esxcfg-firewall -u

Answer: A
Explanation:

Topic 3, Volume B

QUESTION NO: 8

Using the Plug-In Manager, which of the following actions can be taken (Choose Two)?
A. Download and Install available Plug-ins

B. Remove an installed Plug-in

C. Disable an installed Plug-in
D. Configure permissions for a Plug-in

Answer: A,C
Explanation:

QUESTION NO: 9

Windows virtual machines use a page file and Linux virtual machines use a swap partition for
virtual memory. When determining the appropriate size for these, which of the following files would
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be affected?

A. the -flat.vmdk file

B. the .vmdk file

C. the .vswp file

D. the Service Console swap partition

Answer: A
Explanation:

Topic 1, Volume A

QUESTION NO: 10

An administrator is upgrading an ESX 3.5 host. The host has a single Intel Xeon processor, 4GB
of RAM and a local VMFS datastore on a masked, SAN-attached LUN. Which of the following
could cause the upgrade to be unsuccessful?

A. The ESX host has 4GB RAM.

B. The existing VMFS datastore resides on a SAN-attached LUN.
C. The existing VMFS datastore has 6GB of free space.

D. The ESX host has 1 processor.

Answer: C
Explanation:

"Certification Depends on Only One Thing" - www.actualanswers.com



